# Convergence theorems for semigroup of asymptotically nonexpansive mappings

BIRENDRA KUMAR SHARMA AND BALWANT SINGH THAKUR\*

Communicated by George Dinca

Abstract - In this paper, we prove the following results: Let K be a closed convex subset of a real Banach space E. Let  $\mathcal{T} := \{T(t) \mid t \in \mathbb{R}_+\}$  be strongly continuous semigroup of asymptotically nonexpansive mappings from K into K such that  $F(\mathcal{T}) := \bigcap_{t \in \mathbb{R}_+} F(T(t)) \neq \emptyset$ , where  $F(T(t)) = \{x \in K \mid T(t)x = x\}$  and  $\mathbb{R}_+$  denotes the set of nonnegative real numbers. Then for arbitrary  $x_0 \in K$ , the implicit iteration  $\{x_n\}$  given by  $x_n = \alpha_n x_{n-1} + (1 - \alpha_n) (T(t_n))^n x_n$ ,  $n \geq 0$  converges weakly (strongly) to an element of  $F(\mathcal{T})$ , where  $\{\alpha_n\}$ ,  $\{t_n\}$  are sequences of real numbers satisfying certain conditions.

**Key words and phrases :** Asymptotically nonexpansive semigroup, Opial's condition, implicit iteration.

Mathematics Subject Classification (2010): 47H09, 47H10.

## 1. Introduction

Let E be a real Banach space, K be a nonempty closed convex subset of E. A mapping  $T: K \to K$  is said to be

(1) nonexpansive, if

$$||Tx - Ty|| \le ||x - y||$$

for all  $x, y \in K$ ,

(2) asymptotically nonexpansive [5], if there exists a sequence  $\{k_n\} \subset [1,\infty)$  with  $\lim_{n\to\infty} k_n = 1$  such that

$$\left\|T^{n}x - T^{n}y\right\| \le k_{n}\left\|x - y\right\|$$

for all  $x, y \in K$  and  $n \in \mathbb{N}$ .

The class of asymptotically nonexpansive mapping is an important generalization of the class of nonexpansive mappings.

Construction of fixed points of nonexpansive mappings has important applications, in particular, in image recovery and in signal processing, see e.g. [2, 8]. In 1967, Browder (see [1]) proved the following result.

<sup>\*</sup>Corresponding author

**Theorem 1.1.** Let K be a closed convex subset of a Hilbert space H and T be a nonexpansive mapping with its values in K with a fixed point. Let  $\{\alpha_n\}$ be a sequence in (0,1) converging to 0. Fix  $u \in K$  and define a sequence  $\{x_n\}$  by

$$x_n = \alpha_n u + (1 - \alpha_n) T x_n, \ n \in \mathbb{N}.$$

Then  $\{x_n\}$  converges strongly to the element of F(T) nearest to u, where F(T) denotes the set of fixed points of T.

Closely related to the class of nonexpansive mappings and asymptotically nonexpansive mappings are strongly continuous semigroup of nonexpansive mappings and strongly continuous semigroup of asymptotically nonexpansive mapping which are directly linked to solutions of differential equations and which have been studied by several authors see e.g. [3, 10, 11].

Let K be a closed convex subset of a Banach space E.  $\mathcal{T} := \{T(t) | t \in \mathbb{R}_+\}$ , where  $\mathbb{R}_+$  denotes the set of nonnegative real numbers, is said to be strongly continuous semigroup of asymptotically nonexpansive mappings from K into K if the following conditions are satisfied:

- (1) T(0)x = x for all  $x \in K$ ;
- (2)  $T(s+t) = T(s) \circ T(t)$  for all  $s, t \in \mathbb{R}_+$ ;
- (3) for each  $t \in \mathbb{R}_+$ , T(t) be an asymptotically nonexpansive mapping on K,
- (4) for each  $x \in K$ , the mapping  $T(\cdot)x$  from  $\mathbb{R}_+$  into K is continuous.

If in the above definition, condition (3) is replaced by the following condition:

 $(3)^*$  for each  $t \in \mathbb{R}_+$ , T(t) be an nonexpansive mapping on K,

then  $\mathcal{T}$  is called strongly continuous semi-group of nonexpansive mapping on K.

Let  $F(\mathcal{T}) := \bigcap_{t \in \mathbb{R}_+} F(T(t)) \neq \emptyset$ , where  $F(T(t)) = \{x \in K \mid T(t)x = x\}$ .

Construction of common fixed points of nonexpansive semigroups is an important subject in the theory of nonexpansive semigroup mappings and its applications.

Shioji and Takahashi (see [10]), in Hilbert space, introduced the following implicit iteration

$$u_n = (1 - \alpha_n) \frac{1}{t_n} \int_0^{t_n} T(s) u_n ds + \alpha_n u, u \in K, n \ge 1,$$

where  $\{\alpha_n\}$  and  $\{t_n\}$  be sequences of real numbers satisfying  $0 < \alpha_n < 1$ ,  $\lim_n \alpha_n = 0, t_n > 0$  and  $\lim_n t_n = \infty$ .

Suzuki [11] was the first who introduced an iteration, where iterate  $u_n$  at step n is constructed directly from the semigroup, i.e. from  $T(t_n)$ . Suzuki [11] proved the following result.

**Theorem 1.2.** Let K be a closed convex subset of a Hilbert space H. Let  $\{T(t) | t \in \mathbb{R}_+\}$  be a strongly continuous semigroup of nonexpansive mappings on K such that  $F(\mathcal{T}) \neq \emptyset$ . Let  $\{\alpha_n\}$  and  $\{t_n\}$  be sequences of real numbers satisfying  $0 < \alpha_n < 1$ ,  $t_n > 0$  and  $\lim_n t_n = \lim_n \alpha_n / t_n = 0$ . Fix  $u \in K$  and define a sequence  $\{u_n\}$  in K by

$$u_n = (1 - \alpha_n)T(t_n)u_n + \alpha_n u$$

for  $n \in \mathbb{N}$ . Then  $\{u_n\}$  converges strongly to the element of  $F(\mathcal{T})$  nearest to u.

Xu (see [13]) established a Banach space version of the Theorem 1.2. More recently Thong (see [12]), consider an implicit iteration for strongly continuous semigroup of nonexpansive mappings and proved weak and strong convergence results.

When we study iterative schemes for asymptotically nonexpansive mappings, it looks more complicated than the schemes for nonexpansive mappings. T is not always nonexpansive (mapping which do not increase distance), i.e. T may increase distances. In order to overcome difficulties caused by increasingness of T, one need to adjust, the defining mapping at each iteration step in the iteration schemes, i.e., we have to use  $T^n$  (instead of T) at step n as the defining mapping. Though  $T^n$  may still increase distance (as  $k_n \ge 1$ ), however since  $k_n \to 1$ , eventually  $T^n$  would increase distance marginally. Schu (see [9]) was first to use the above idea and defined iteration scheme for asymptotically nonexpansive mapping.

Motivated by the above works, in this paper we propose an implicit iteration for semigroup of asymptotically nonexpansive mappings and prove weak and strong convergence results in Banach spaces.

In the sequel, we will need the following:

A Banach space E is said to satisfy Opial's condition [7] if for any sequence  $\{x_n\} \in E, x_n \rightharpoonup x$  as  $n \rightarrow \infty$  implies

$$\limsup_{n \to \infty} \|x_n - x\| < \limsup_{n \to \infty} \|x_n - y\|, \quad \forall \ y \in E \text{ with } x \neq y.$$

**Lemma 1.1.** ([6]) Let the nonnegative number sequences  $\{a_n\}, \{u_n\}$  satisfy

$$a_{n+1} \le (1+u_n)a_n$$
,  $n = 0, 1, 2, \cdots$ ,  $\sum_{n=0}^{\infty} u_n < \infty$ .

Then  $\lim_{n\to\infty} a_n$  exists.

## 2. Main results

We now study an implicit iteration for semigroup of asymptotically nonexpansive mappings, which generates a sequence  $\{x_n\}$  implicitly by,

$$x_n = \alpha_n x_{n-1} + (1 - \alpha_n) \left( T(t_n) \right)^n x_n \tag{2.1}$$

**Theorem 2.1.** Let E be a real Banach space and K be a closed convex subset of E. Let  $\{T(t) | t \ge 0\}$  be a strongly continuous semigroup of asymptotically nonexpansive mappings on K such that  $F(\mathcal{T}) \ne \emptyset$ . Let  $\{\alpha_n\}$  and  $\{t_n\}$  be sequence of real numbers satisfying

- (*i*)  $0 < \alpha_n < 1, t_n > 0, \quad \lim_{n \to \infty} t_n = \lim_{n \to \infty} \frac{\alpha_n}{t_n} = 0$
- (*ii*)  $\sum_{n=1}^{\infty} (k_n 1) < \infty$ .

Let  $\{x_n\}$  be defined by (2.1). Then

- (a)  $\lim_{n\to\infty} ||x_n p||$  exists for each  $p \in F(\mathcal{T})$ .
- (b)  $||T(t_n)x_n||$  is bounded.

**Proof.** For each  $p \in F(\mathcal{T})$ , we have

$$\begin{aligned} \|x_n - p\| &= \|\alpha_n (x_{n-1} - p) + (1 - \alpha_n) ((T(t_n))^n x_n - p)\| \\ &\leq \alpha_n \|x_{n-1} - p\| + (1 - \alpha_n) \| (T(t_n))^n x_n - p\| \\ &\leq \alpha_n \|x_{n-1} - p\| + (1 - \alpha_n) k_n \|x_n - p\| \\ &\leq \alpha_n \|x_{n-1} - p\| + (1 - \alpha_n + \mu_n) \|x_n - p\| \end{aligned}$$

where  $\mu_n = k_n - 1$ , and by (ii) we have,  $\sum_{n=1}^{\infty} \mu_n < \infty$ . After simplification, above inequality gives

$$||x_n - p|| \le ||x_{n-1} - p|| + \frac{\mu_n}{\alpha_n} ||x_n - p||$$

From condition  $\lim_{n\to\infty} t_n = \lim_{n\to\infty} \frac{\alpha_n}{t_n} = 0$ , we have  $\lim_{n\to\infty} \alpha_n = 0$ . It follows that, for  $b \in (0, 1)$ , there exists a positive integer  $n_0$  such that  $\alpha_n \in (0, b]$  for all  $n \ge n_0$ . So we have

$$||x_n - p|| \le ||x_{n-1} - p|| + \frac{\mu_n}{1 - b} ||x_n - p||$$

i.e.

$$||x_n - p|| \le \frac{1 - b}{1 - b - \mu_n} ||x_{n-1} - p||$$
  
=  $\left(1 + \frac{\mu_n}{1 - b - \mu_n}\right) ||x_{n-1} - p|$ 

since  $\sum_{n=1}^{\infty} \mu_n < \infty$ , we have  $\mu_n \to 0$ , so there exists  $n_0$  such that  $\mu_n \leq \frac{1-b}{2}$  for all  $n \geq n_0$ , so

$$||x_n - p|| \le \left(1 + \frac{2\mu_n}{1 - b}\right) ||x_{n-1} - p||$$

so  $\lim_{n\to\infty} ||x_n - p||$  exists and hence  $\{x_n\}$  is bounded. By (2.1), we have

$$\|(T(t_n))^n x_n\| = \left\| \frac{1}{1 - \alpha_n} x_n - \frac{\alpha_n}{1 - \alpha_n} x_{n-1} \right\|$$
  
$$\leq \frac{1}{1 - \alpha_n} \|x_n\| + \frac{\alpha_n}{1 - \alpha_n} \|x_{n-1}\|$$
  
$$\leq \frac{1}{1 - b} \|x_n\| + \frac{b}{1 - b} \|x_{n-1}\|$$

which implies that  $||T(t_n)x_n||$  is bounded.

## 2.1. Weak convergence theorem

**Theorem 2.2.** Let E be a real reflexive Banach space satisfying Opial's condition and K be a nonempty closed convex subset of E. Let  $\{T(t) \mid t \ge 0\}$  be a strongly continuous semigroup of asymptotically nonexpansive mappings on K such that  $F(\mathcal{T}) \neq \emptyset$ . Let  $\{\alpha_n\}$  and  $\{t_n\}$  be sequence of real numbers as in Theorem 2.1. Then the  $\{x_n\}$  defined by (2.1) converges weakly to an element of  $F(\mathcal{T})$ .

**Proof.** By Theorem 2.1, for each  $p \in F(\mathcal{T})$  the  $\lim_{n\to\infty} ||x_n - p||$  exists and  $\{x_n\}$ ,  $\{||T(t_n)x_n||\}$  are bounded. Since E is reflexive, K is closed and convex, and  $\{x_n\}$  is bounded, there exists a subsequence  $\{x_{n_j}\}$  of  $\{x_n\}$  which converges weakly to  $x^* \in K$ . We prove  $x^* \in F(\mathcal{T})$ . Put  $u_j = x_{n_j}$ ,  $\beta_j = \alpha_{n_j}$ ,  $s_j = t_{n_j}$  for  $j \in \mathbb{N}$ . Fix t > 0. Since

$$\begin{aligned} \left\| u_{j} - (T(t))^{j} x^{*} \right\| &\leq \sum_{k=0}^{\left\lfloor \frac{t}{s_{j}} \right\rfloor^{-1}} \left\| (T((k+1)s_{j}))^{j} u_{j} - (T(ks_{j}))^{j} u_{j} \right\| \\ &+ \left\| \left( T\left( \left\lfloor \frac{t}{s_{j}} \right\rfloor s_{j} \right) \right)^{j} u_{j} - \left( T\left( \left\lfloor \frac{t}{s_{j}} \right\rfloor s_{j} \right) \right)^{j} x^{*} \right\| \\ &+ \left\| \left( T\left( \left\lfloor \frac{t}{s_{j}} \right\rfloor s_{j} \right) \right)^{j} x^{*} - (T(t))^{j} x^{*} \right\| \\ &\leq \left\lfloor \frac{t}{s_{j}} \right\rfloor k_{j} \left\| (T(s_{j}))^{j} u_{j} - u_{j} \right\| + k_{j} \left\| u_{j} - x^{*} \right\| \\ &+ k_{j} \left\| \left( T\left( t - \left\lfloor \frac{t}{s_{n}} \right\rfloor s_{j} \right) \right)^{j} x^{*} - x^{*} \right\| \\ &= tk_{j} \left( \frac{\beta_{j}}{s_{j}} \right) \left\| (T(s_{j}))^{j} u_{j} - u_{j-1} \right\| + k_{j} \left\| u_{j} - x^{*} \right\| \\ &+ k_{j} \max \left\{ \left\| (T(s))^{j} x^{*} - x^{*} \right\| \left\| 0 \le s \le s_{j} \right\} \end{aligned}$$

for all  $j \in \mathbb{N}$ , we have

$$\limsup_{j \to \infty} \left\| u_j - (T(t))^j x^* \right\| \le \limsup_{j \to \infty} \left\| u_j - x^* \right\|.$$

By Opial's condition this implies that  $\lim_{j\to\infty} (T(t))^j x^* = x^*$ . Also

$$x^* = \lim_{j \to \infty} (T(t))^j x^* = \lim_{j \to \infty} (T(t))^{j+1} x^* = T(t) \left( \lim_{j \to \infty} (T(t))^j x^* \right) = T(t) x^*.$$

Therefore  $x^* \in F(\mathcal{T})$ . We now prove that  $\{x_n\}$  converging weakly to  $x^*$ . Suppose that there exists a subsequence  $\{x_{n_i}\}$  of  $\{x_n\}$  converges weakly to  $\bar{x}$  and  $x^* \neq \bar{x}$ . In a similar manner we can also show that  $\bar{x} \in F(\mathcal{T})$ . Further both limits  $\lim_{n\to\infty} ||x_n - x^*||$  and  $\lim_{n\to\infty} ||x_n - \bar{x}||$  exists. We have

$$\lim_{n \to \infty} \|x_n - x^*\| = \limsup_{j \to \infty} \|x_{n_j} - x^*\| < \limsup_{j \to \infty} \|x_{n_j} - \bar{x}\|$$
$$= \lim_{n \to \infty} \|x_n - \bar{x}\| = \limsup_{i \to \infty} \|x_{n_i} - \bar{x}\|$$
$$< \limsup_{i \to \infty} \|x_{n_i} - x^*\| = \lim_{n \to \infty} \|x_n - x^*\|.$$

A contradiction, hence  $x^* = \bar{x}$  and hence  $x_n \rightharpoonup x^*$ . This completes the proof.

#### 

#### 2.2. Strong convergence theorem

**Theorem 2.3.** Let E be a real Banach space and K be a nonempty compact convex subset of E. Let  $\{T(t) | t \ge 0\}$  be a strongly continuous semigroup of asymptotically nonexpansive mappings on K such that  $F(\mathcal{T}) \neq \emptyset$ . Let  $\{\alpha_n\}$ and  $\{t_n\}$  be sequence of real numbers as in Theorem 2.1. Then the sequence  $\{x_n\}$  defined by (2.1) converges strongly to an element of  $F(\mathcal{T})$ .

**Proof.** By Theorem 2.1, for each  $p \in F(\mathcal{T})$  the  $\lim_{n\to\infty} ||x_n - p||$  exists and  $\{x_n\}, \{||T(t_n)x_n||\}$  are bounded. By (2.1), we have

$$||x_n - (T(t_n))^n x_n|| = \alpha_n ||x_{n-1} - (T(t_n))^n x_n|| \to 0 \text{ as } n \to \infty$$
 (2.2)

Next we show that  $\lim_{n\to\infty} ||x_n - (T(t))^n x_n|| = 0$  for each t > 0. For all  $n \in \mathbb{N}$ , we have

$$\|x_n - (T(t))^n x_n\| \le \sum_{k=0}^{\left\lfloor \frac{t}{t_n} \right\rfloor - 1} \| (T((k+1)t_n))^n x_n - (T(kt_n))^n x_n \| + \left\| \left( T\left( \left\lfloor \frac{t}{t_n} \right\rfloor t_n \right) \right)^n x_n - (T(t))^n x_n \right\|$$

$$\leq \left[\frac{t}{t_n}\right] k_n \left\| (T(t_n))^n x_n - x_n \right\|$$
  
+  $k_n \left\| \left( T \left( t - \left[\frac{t}{s_n}\right] t_n \right) \right)^n x_n - x_n \right\|$   
=  $t k_n \left(\frac{\alpha_n}{t_n}\right) \left\| (T(t_n))^n x_n - x_{n-1} \right\|$   
+  $k_n \max \left\{ \left\| (T(s))^n x_n - x_n \right\| \mid 0 \le s \le t_n \right\}$ 

therefore

$$\lim_{n \to \infty} \|x_n - (T(t))^n x_n\| = 0.$$
(2.3)

We now show that  $\{x_n\}$  converges strongly to an element of  $F(\mathcal{T})$ . The compactness of K suffices for the existence of a subsequence  $\{x_{n_j}\}$  of  $\{x_n\}$  such that  $x_{n_j} \to x^* \in K$ .

Fix t > 0. By continuity of the mapping T(t) and the norm  $\|\cdot\|$ , together with (2.3), we have

$$\begin{aligned} \|x^* - T(t)^j x^*\| &\leq \|x_{n_j} - x^*\| + \|x_{n_j} - (T(t))^j x_{n_j}\| \\ &+ \|(T(t))^j x_{n_j} - (T(t))^j x^*\| \\ &\leq (1+k_j) \|x_{n_j} - x^*\| + \|x_{n_j} - (T(t))^j x_{n_j}\|. \end{aligned}$$

Letting  $j \to \infty$ , we get

$$\lim_{j \to \infty} \left( T(t) \right)^j x^* = x^* \, .$$

This gives that

$$x^* = \lim_{j \to \infty} (T(t))^j x^* = \lim_{j \to \infty} (T(t))^{j+1} x^* = T(t) \left( \lim_{j \to \infty} (T(t))^j x^* \right) = T(t) x^*,$$

hence  $x^* \in F(\mathcal{T})$ . Because  $\lim_{n\to\infty} ||x_n - p||$  exists for all  $p \in F(\mathcal{T})$  by Theorem 2.1, we obtain

$$\lim_{n \to \infty} \|x_n - x^*\| = \lim_{j \to \infty} \|x_{n_j} - x^*\| = 0.$$

This completes the proof.

**Remark 2.1.** Theorem 2.2 and Theorem 2.3 generalize main result of Thong [12] for larger class of strongly continuous semigroup of asymptotically non-expansive mappings.

**Remark 2.2.** Theorem 2.2 and Theorem 2.3 generalize main results of [4], [10] and [11] in the sense that our result is applicable to more general class of strongly continuous semigroup of asymptotically noexpansive mappings and the more general implicit iteration as well as to more general Banach spaces.

## Acknowledgments

The authors are grateful to the anonymous referee for careful reading and valuable suggestions which helped to improve the manuscript. The second author is thankful to University Grants Commission of India.

## References

- [1] F.E. BROWDER, Convergence of approximates to fixed points of nonexpamsive nonlinear mappings in Banach spaces, Arch. Ration. Mech. Anal., 24 (1967), 82-90.
- [2] C. BYRNE, A unified treatment of some iterative algorithms in signal processing and image construction, *Inverse Problems*, **20** (2004), 103-120.
- [3] C.E. CHIDUME and H. ZEGEYE, Strong convergence theorems for common fixed points of uniformly *L*-Lipschitzian pseudocontractive semi-groups, *Appl. Anal.*, 86 (2007), 253-266.
- [4] G.E. KIM and W. TAKAHASHI, Approximating common fixed points of nonexpansive semigroups in Banach spaces, *Sci. Math. Jpn.*, **63** (2006), 31-36.
- [5] K. GOEBEL and W.A. KIRK, A fixed point theorem for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc., 35 (1972), 171-174.
- [6] Q. LIU, Iterative sequence for asymptotically quasi-nonexpansive mappings, J. Math. Anal. Appl., 256 (2001), 1-7.
- [7] Z. OPIAL, Weak convergence of the sequence of successive approximation for nonexpansive mappings, Bull. Amer. Math. Soc., 76 (1967), 591-597.
- [8] C.J. PODILCHUK and R.J. MAMMONE, Image recovery by convex projections using a least-square constraint, J. Opt. Soc. Amer. A, 7 (1990), 517-521.
- [9] J. SCHU, Iterative construction of fixed points of asymptotically nonexpansive mappings, J. Math. Anal. Appl., 158 (1991), 407-413.
- [10] N. SHIOJI and W. TAKAHASHI, Strong convergence theorems for asymptotically nonexpansive mappings in Hilbert spaces, *Nonlinear Anal.*, 34 (1998), 87-99.
- [11] T. SUZUKI, On strong convergence to common fixed points of nonexpansive semigroups in Hilbert spaces, Proc. Amer. Math. Soc., 131 (2002), 2133-2136.
- [12] D.V. THONG, An implicit iteration process for nonexpansive semigroups, Nonlinear Anal., 74 (2011), 6116-6120.
- [13] H.K. XU, A strong convergence theorem for contraction semigroups in Banach spaces, Bull. Austral. Math. Soc., 72 (2005), 371-379.

Birendra Kumar Sharma and Balwant Singh Thakur

School of Studies in Mathematics

Pt. Ravishankar Shukla University

Raipur (C.G.) 492010, India

E-mail: sharmabk07@gmail.com, balwantst@gmail.com